Zadatak 16.

RjeSenje.

| zraCungj:
1) X+ 1%+ (3x- 1%
2) (x+1)°%+(x—1)8.
Razvijmo po binomnoj formuli i koristimo koeficijente Pascalovog trokuta.
1) (3x+ 1%+ (3x—1)*
= (5) @0+ (1)@93+ (3) 0%+ (5) @9+ (5)(39°
+(5) 3910+ (1) 3931+ (5) 392(-1?

4 4
+(3) @M1+ (4 ) (3x)°(-1)*
=81X*+4-27x34+6-9x2+4-3x+ 1+ 81X* — 4. 27x3+6-9x° — 4-3x+ 1
= 162x* + 108x2 + 2;
2) (x+1)8 4+ (x—1)8

= (o) ()0 ()0 (32 ()2 + ()¢ + ()

o)D)+ (2 (3)2+ (2)2— (g )+ ()¢
= x8 4+ 6x° + 15x* + 20x3 4 15x2 + 6x + 1 + X8 — 6x° + 15x* — 203
+15x%2 — 6x+ 1= 2x0 4+ 30x* + 30x2 + 2 ;



